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3. Find the value of median population threshold of facility 
P from the data of total inhabited settlement and the 

settlement located with facility F, of cach give size group 

of settlements. 

Particulars of 
the facility 

Total 
Inhabitant 
settlement 

Settlement 
with facility 
F 

250- 500-1000 20005000 1000030000s00 Total 
499 999 1999 4999 9999 2999949999000 

Population size class of Settlements 

189 280 360 

0 

354 316 
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4. Examination of report on Master plan. 

UNIT-III (Planning for the clty) 

5. Laboratory notebook and viva-voce. 
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